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ECONOMICS

Paper : ECO-RG-5016

( Economic Development and Policy in India—I )

( Regular Generic )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
TS frarTRd foct Spif} T fia -

(a) Mention one obstacle of economic
development of India.

T HA(ASF T GO1 141 BeE 9 |
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(b)

(c)

(d)

(e)

()

22A/369

(2)

What is sustainable development?
Ty T {30

Does education contribute towards
human capital formation?

TR Yo oS fRraty SR I ?

Define disguised unemployment.
A A s foa |

What is the rate of urbanization in
India according to the 2011 Census?

quswmﬁwwwaﬁi’lﬁ«m
=2

In case of size of population, India
occupies the first position in the world.

(Write True or False)

SORYR TFA (FAS TS T A% T

PR I |
(3761 1 iy forar)

What is seasonal unemployment?

Tpors e R 2
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B T EE PR -

(h)

()

(3)

Write one cause of educated
unemployment in India,

wqeq s faermE o1 2aq fagr

Mention one poverty alleviation measure
of the Government of India.

R HAP[RT VAW ZPRAGd AE (AR ]
TRy SrEd 990 |

() Who prepares Monetary Policy of
India?
SHOS 4 NS (P 27 F71 7
2. Answer the following questions : 2x5=10
TS fall eppPTRe T fard
(a) Mention two causes of India’s low
economic growth.
SRS A qAST s o1 PR Tm 71 |
(b) Write two importances of technology as
a factor of development.
S P 21t 2R o1 @y for |
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(4)

() Mention two causes of urbanization
in India.

ST H QT4 o1 P4 GCEY 91|

(d) Mention two types of unemployment
found in rural India.

AN SRS Rl (RN Ry e SeEd
L2l

(e) Write two causes of low savings in
India.

SAwA AN T4 o1 Fe T |

3. Answer any four of the following questions :
5x4=20

o fimr opardd R e iR T ford -

(a) Suggest some measures for sustainable
development in India.

SReT Tl SRwE e g o
SI9RCEH |

(b) Explain the relationship between capital
formation and development.

A 16w W T O ST A
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(5)

(0 How is population and economic
development related? Explain,

R F Sftfee T e e 2
A 4

(d) Write a note on the occupational
structure in the organized sector of
India.

eeed Mefde qeq (ompere S [a 9o
(oI o o

(e) Explain the nature of urban
unemployment in India.

©RSq A5 IR ol r F4 |

(/ Explain the Centre-States financial
relation in India.

SRSy (F% HF TP [Ew T e
91 |

4. Answer any four of the following questions :
10x4=40
woTe fia epgcared R @ie vt Ted for

(a) Discuss the characteristics of Indian
economy as a developing economy.
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(6)

e R fond  SReH wefAfed
CIRBPTR ST 91 |

(b) Discuss the causes of low rate of
capital formation in India.

SRR YA T P T FRPTR S
11

(c) Discuss the trend of India’s population
growth in the planning period.

ARFET IS SRST TRyl Jfad T
A F41 |

(d What are the causes of high rate of
population growth in India? Discuss.

WW‘«IW%WWW%@S?
ST 40 |

(e) Discuss the schemes taken by the
Government of India to reduce

unemployment.
@l PRAT I@ TS TR I

STB{APTYR. S 391 |
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(7))

() Discuss the causes of income inequality

in India.

CAGA 1Y (T FRPIZ ST 341 |
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